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EXIST. CURVE 608

PI STA. = 106+03.69
R = 1,041.87’

T = 347.38’

L = 670.61’

E = 56.39’

e = _____
T.R. = _____

S.E. RUN = _____

P.C. STA. = 102+56.31

P.T. STA. = 109+26.92

EXIST. CURVE 201

PI STA. = 136+33.56
R = 1,152.98’

T = 532.00’

L = 996.88’

E = 116.82’

e = _____
T.R. = _____

S.E. RUN = _____

P.C. STA. = 131+01.56

P.T. STA. = 140+98.44
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EXIST. CURVE 304

PI STA. = 19+58.03
R = 113.39’

T = 46.80’

L = 88.77’

E = 9.28’
e = _____

T.R. = _____

S.E. RUN = _____

P.C. STA. = 19+11.23

P.T. STA. = 20+00.00
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EXIST. CURVE 611

PI STA. = 10+81.16
R = 68.51’

T = 46.33’

L = 81.47’

E = 14.19’
e = _____

T.R. = _____

S.E. RUN = _____

P.C. STA. = 10+34.83

P.T. STA. = 11+16.30

EXIST. CURVE 612

PI STA. = 12+65.55
R = 2,602.41’

T = 137.94’

L = 275.63’

E = 3.65’
e = _____

T.R. = _____

S.E. RUN = _____

P.C. STA. = 11+27.61

P.T. STA. = 14+03.23
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EXIST. CURVE 602

PI STA. = 264+11.21
R = 1,322.21’

T = 338.05’

L = 661.92’

E = 42.53’

e = _____
T.R. = _____

S.E. RUN = _____

P.C. STA. = 260+73.16

P.T. STA. = 267+35.08
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PROP. CURVE ATGRD-1

PI STA. = 20+75.55
R = 1,335.00’

T = 376.06’

L = 733.11’

E = 51.95’T.R. = _____

S.E. RUN = _____

P.C. STA = 16+99.49

P.T. STA = 24+32.60

PROP. CURVE ATGRD-2

PI STA. = 34+50.27
R = 835.00’

T = 436.21’

L = 803.95’

E = 107.07’T.R. = _____

S.E. RUN = _____

P.C. STA = 30+14.06

P.T. STA = 38+18.01

e = 6.0% (D.S.=45MPH)

e = 6.0% (D.S.=60MPH)
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PROP. CURVE BTAC-3

PI STA. = 1+46.28
R = 125.00’

T = 146.28’

L = 215.92’

E = 67.41’

e = _____
T.R. = _____

S.E. RUN = _____

P.C. STA = 0+00.00

P.T. STA = 2+15.92
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